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Let f(x,y) =

1
—

(1) Find g—i(:c, Y).

(2) Find the following integral:

[ ([ )i

(3) Find the following integral, by changing the order of integration of the integral in

(2):
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Leta€C,andset A=12 2 al|,b=|al|, W={xeC®| Az =0}.
a 2 2 3

1) Find the condition on o under which the matrix A is nonsingular.

3) Find the condition on « under which the dimension of the subspace W is at least 1.
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2) Find all vectors y € C? satisfying Ay = b when the matrix A is singular.
)
)

4) Under the condition of (3), find a basis of W.
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(1) RZANDOEATER D L CEFRI N7z C? AR f(x,y) 25 D ODHNFIZHBWT
0? 0>
i3T5, ZDEEDDOHNET fr,y) PERAMEZE SN & 2R,

(2) BB 2? +y? — 2y D {(z,y) e R? | 2?2 + 4y? < 1} L TOHRKEZRD XK.

A1 b RTRE L, b£0 LT 5. [ %3TELHTIIL L, JERIDFACT 1 TH

B3XEIATIE T3, F72, en,...,e0 % RS OEMEREK Y T3, 2oL % 6 REHTHI
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WIOWTLTOBWIZE Z k.



(1) V1 = €1 +€2+€3, Vg = €4 + €5 + €4 f%ﬁiéﬂf: RG O)%Bﬁj\%%ﬁ% %74 t£< Z %,
Wik ATARETHS L Zrt.

(2) ADFETZW o W ANOFEEBIIONWT, HIE vy, v, ICHT 2 REUTH % K
» k.

(3) AldB x5 ¥ 3EDOMHER 3 EEME DO L ERY.
(4) A DEANTHI L 72 % 72 DE&MEE KD, A BERUTHIO L = A OWATHI% KD X.

0| BatEic BT 3 RO REEHED AL % 5 2 2 ROMHEFLEER 3.

Sk+1 = Ske_ﬁlk + (]]k;
Ip1 = Sp(1— e ) + (1 — ) I,

S, BEUL LT EHBIZBT 2EHNOIFREGEHE L BREEOHEZRT (F=0,1,2,...).
NRIX=RBEqEB>0,0<qg<]1 &=, F/2, I, >0235. LTOMWIZE
Z K.

(1) 95 R —& g DEREBRA L.
(2) k HEHOBLEENEET 5 ETOMHHRERD k.

(3) EED L >0 LT I, = I* DD ILD XS RIEDME I* DFIET 2 72D DILE
TR X.

O o bo®te+5. Mun L1 0BmbRS 1 RIEORY kL etkotk

&% [£1)" THEL, xy € {£1}" GHLT, ZhHE R ORY ML ER L ZO5E
BOWME x -y LBLILICT S, COLE, KON

ry,ro,...,r, € {£1}"

iz n HONRZ ML vy, 1o, ..., 1, DIFEICOWVWTEZRS.
(1) n=20r %, &M (x) ZWiZzd 2 HDOXRZ Fbry,ry DFZ FTRTKRD XK.
2) n=3 DX, & (x) 27T 3TEDORT bbr vy, r3 EFELRNI & Z2RE.

B)n=2"(k=1,23,...) D&, FH(x) Z2iti/d 28 MOXZ bbry,ry,... T
DIFET 5 Z & 2Ry,
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YEFL, BRERU U =-2Y +1 L ERT 5.

(1) U OHEREERZ KD K.

(2) U O B(U) £ 98V (U) &K &.
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D DRIBIT2ME ZDEE L TXTKD XK.
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ThbIrErt.
(3) BEceHE AW TEMES

I:/+OO dx
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DEZERD K. 72721, RBEIZIEE TAR cos% _ L V5 ZEERAZ LICHWT %
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(1) 23T NTKRD X.
2) y(0)=a (0<a<1) b THEERD X.

(3) (2) DD 7 Z 7 %47



0] seo mEnmamosas MOR) L35, MER) £ 4 Ki2—2 ) v K%

Ml R* ¥ FEI—H LU CTHHEZEME A%T. £z, M(2;R) OETEE

GL(ZR) = {X € M(2;R) | det X # 0},
SL(ZR) = {X € M(2;R) | det X = 1},
SO(ZR) = {X € M(2;R) |'X X =} N SL(2;R)

T F AR T ARZER  A72F. 72720, det X 13 X OfFFIR, X 1 X Dig
EATH, 1132 RENITH T 5.

(1) GL(2;R), SL(2;R), SO(2;R) 1 M(2;R) DBES, HES, H20VWEEEL5TS
RV B2 TER K.

(2) GL(2;R), SL(2;R), SO(2;R) 1Za > X7 b THEZ LI 02 HEEFITITEZ X.
(3) SO(2;R) &, HMFIE S' = {(z,y) eR? |22 + 42 =1} LEMETH 2 Z & ZRE.

] Goagmey U ¢ oz 3 CHOTRRCET S, Bl o G = G as o

DEHERARNC R 5 TV EIRET 5.
(1) ¢ XFARBIRTH 5 Z & ZiEHE k.
(2) z,y € GIIMLT, ROEFEADKILT 5 Z ¥ ZAHE X.

(a) (xy)* = y?a?
(b) [z,y]> = [2° .
(©) [2,9)* =y, 27"
(d) [z,y]° = 1.

72720, 113G OHfTE L, [vy] =2y oy T 5.



